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PART - Il : SCHOLASTIC APTITUDE TEST
(For Students of Class X)
Time : 90 Minutes Max. Marks : 100

INSTRUCTIONS TQ CANDIDATES

Read the following instructions carefully before you

open the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part-1. .

2. There are 100 questions in this test. All are
compulsory.

3. The question numbers 101 - 120 belong to
Mathematics, 121 - 160 pertain to Sc1ence and
161 - 200 are Social Science subjects,

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet.

5. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

7. Rough work can be done ariywhere in the Question

Booklet but not on the OMR sheet/loose paper.

8. Every correct answer will be awarded one mark.

9. Please return the OMR answer sheet only, to the
Invigilator after completion of the test. You can
retain the Question Booklets.

10.English version of the Question Paper will be
considered as final in case of any dispute arising
out of variation in translated version. )

11. Quote your seven digit Roll number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING. :

LGS - I1: uguules Spen LGEs Coitey
(UESTD QIEGLIL| DTEITEUTEEREEN TS )
Gy : 90 Bl Bigen Auorgs wHiGuemmsar : 100
Gaey sipgiueuiagpsstes e0S penmaet
eflemm mned Ggr@glenus Hnlugheg wer QarHasiul (Hiarer

el penmaenan SeUETDITSL Lig S&aib.

1. sl smer uEd-1 CeralhE aupasiuce OMR
aflen gnaflGatu Giiss CeauarHib.

2. @&Cpirefler 100 eQennsaer o araran. ananss D e
sl mud efenweflda i Ceushm(Hio.

3. eflenr eragmaar 101 - 120 gaflgd, 121 - 160 syflefwep,
161 - 200 seps oyfleflwe ur_tiaamans srihsaney.

4. gaGeurm elammapEh Qsr@sslul Beare wrhm
efenL_seRellmmg sflwuman ellan_ufenens s ftg), sims
OMR diem_ggrafid oMo el gdd s@iy Hm
urésnmulemr Grigmrailenmey £ Geusr(Hib.

5. Elds efamggrens@ aasstinl Hdar amw ey Was
GERDEITETETE BHULETED erhg (h efenTefp@ELh smbisa
Crraensé Geaanfissmod Gergens Sas Apbs wperpula
LWETL(RESED.

6. ggreug g lamredheE 2 tisenéE e Qg Musiaena
anpradr SHCaGw sroslrun AFLWUTLd Db
eflenmefifiyg G eaaed. Crrdlmisme upsadia el Hi& Qadnn
sflarrésamen (pwhd Geriweyb.

7. eflen_senen setr il CuopEsrer@n auflepennaamen ellar

TmEie QarEule et Ceadrhuratrgih Qsuig
Garareraor, OMR - aﬁimL,s;srraﬂGsurr .gm)eugj
el ratl BT GFliug sl rg).

8. gpaubairgm siwimen dem-GEh G mﬁu@ueﬁm
BUIEIGLLIEMD.

9. Gaiey gpybs Yo OMR diienggrener wl (B
Senmasacns e uneti L 1b GQarDaseyb. ellerimrs)
QgngLenu B siDiEgE ClFessnid. '

10. Gorn@Guwiny s uedlée gCsain CGaupurHadr
Garenflenmed eflemrggrafien spmflal LEHCW Bnfurss
&(HSLILIRID.

11, Fhaah sugs ATy Qardrer Caamigw @phHlame

FThHUgen 2 BsaTg e Bads LFCaudmmeans Seummingd
GO Gy ‘
Lassanas SimUlll ueoaflsss Csm_misea.



[CODE[ X | 11 [ 17 |



101.

102.

103.

104.

l[CODE] x [ 11 [17]

MATHEMATICS / sesnflgio

If 128 —8%¥=2%, then the value of x is :

1) 2 @ -2

® 3 @ 4

if a, b, c are all non-zero and a+b+c=0
2 b2 C2

then, the value of a 4+ -+ — is5:
be ca ab

abc

1) 3 2

a2+ +l

e (4) a+b+c

3)

By joining the poirits (5, 5), {—5, 5) to the

origin in the Cartesian plane, then the type

of triangle formed is :

(1) Right angled triaﬁgle
(2) Acute triangle

(3) Isosceles triangle

(4) Equilateral trianglé

If the graph of the equation 4x+3y=12

cuts the co-ordinate axes at A and B then
the length of AB is :

(1) 4 units (2) 3 units

(3) 5 units (4) 2 units

101.

102.

103.

104.

128 — 8° =26 graufléd, x —6ir LI

1 2 2y -2

@ 5 @ 4

a, b, ¢ @ wHoy L FLiunhng WwHMID

2 2 2

a+b+c=0 ereafled, o + b + =
bc ca ab

abc

® 3 - 2)

A +bo+ 3

(3). “be (4) a+b+c

sMefliueT SarsHey (5, 5), (—5, 5) ol
LW &GS TemeraL 68T Gl HETER
genL. &G0 (P&CoTamToneTg 1

(l) QemiGamsm (Lps&GaTamd
(2) GnrGaTsmr &GS
(3) @UrELLES WP&SGHTETLD

4) &wLSS (P&EaTeRTLD

4x+3y=12  eeT FLIGTLITL Ly 60T
ELSTIGTELEMIT X LODHMILD 1 BiFaSeneT Gleu (Hid
yereflasr pemmGur A b B sreafley,
AB—str fferrib

(1) 4 gpGsest (2) . 3 Gt

(3) 5 yEseT (4) 2 Seo@Gs6T
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105.

106.

107,

In AABC,if 2 /A=3 /B=6 /C thenthe 105.
measures of SA B and C are
respectively :

(1) 30° 60° 90°

(2) 90°, 60°, 30°

(3) 30° 90°, 60°

{4) 45°, 45°, 90°

In a right triangle ABC, /B=90° 106.
AB=9 cm, AC=15 cm and D>, E are the
midpoints of AB and AC respectively, then

the area of AADE is :

(1) 12 cm? (2) 135 cm?

(3) 27 cm? (4) 24 cm?

The figure obtained by joining the 107.

mid-points of the adjacent sides of a
rectangle of 10 em, 6 cm, is :

1)

a rectangle of area 30 cm?

a square of area 25 cm?

)

a trapezium of area 30 cm?

4

a rhombus of area 30 cm?

(p&CaremTiD ABT -iflev
2,A=3 /B=6 /C aaflld, A
wpmib /C eopGu :

(1) 30°, 60°, 90°

2)  90°, 60°, 30°
(3)  30°, 90°, 60°
(4)  45°, 45°, 90°

Q@ Qemtsmear w&sGsremmd ABC -ufl
/B=90°, AB=9 @s&.f. AC=15 Q..

- pmid AB, AC -ufletr smunwisireflger D, E

starflsy AADE -Wilstr LFlIUeTsumsaTS) :

(1) 12 cm? (2) 135 cm?

(3) 27 cm? (4) 24 cm?

10 Q& 6 QF.f., ussRIGmeTS GloTeaTL

20 Gsiassdar RE55058
ussmsafler pRUyaTafllsemer (@)emnem s
BT 60 FlemL & L sulg 6U & Sladr
LITLILIGT 6UIT6aT ) : '

30 Qa.f.2 o_arer QFsusus LTLILSTSY

(1)
(2) 25 Q.52 2 sirer F&IT UTLILISTSY
30 Q& .18.2 2_eiver sflaus LTTILETEY

(3)

(4) 30 Qe.f.? 2 svar smMUFSIT UTUILIETE



108

109.

110.

111.

If an equilaterlal triangle of side 9 cm is

inscribed in a circle, then its radius is :

(1) 45 3cm (2) 3 3cm
(3) 6cm 4) 3cm

If the mode is of the data 23, 15, 24, 49,

27,26, 22,25, 20, x is 25 then the value of

. X 15
(1) 26 2 24
(3) 20 L@ 25

1 i
If x =23 +23 then the value of x2—6x
5 :

1) 6 (2) 3

(3 2 4 -8

If the sum of n terms of an AP is 5n?-3n,
then its 100t term is :

108.

109.

110.

111.

[CODE] X T 1t T17]

@ 9 W&l uSseelster FUUHS

(P& G&TemTin (M Ll L & &) g6l
MRUSSOIULLT  oEs  eul L Sder
S TLOTTE :

(1) 453Q68. (2) 330845
(3) 60G&L0. 4) 3 Gla.Lb.

23, 15; 24, 40, 27, 26, 22, 25, 20, x eTettm

usrefl elleurgdlar (pas® 25 sTarfled, x —eir

NG ) TR
1) 26 (2) 24
3) 20 (4) 25
12
x=23 +23  grefled, x2—6x T
LdloureTa) :
(1) 6 2 3
(3) 2 4 -8

g & LGS5QsrLt  auflmsullss n
o puiysefier s GHGsTems 5n2—3n

sTeuflsy D@60t 100 6ug) 2 muiuners :
1 92 () 2

@) 12 (4) 5nd
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112. The exprgessién x*+4 can be factorised

.as

113.

114,

115.

116.

(1) (P+2x+2) (x2—2x+2)
(2) (x2+2x+2) (x2+2x~2)

(3) (x2 —2x—2) (x2—2x+2)

@ (2+2) (2-2)

If sides of two similar triangles are in the

ratio 4 : 3, then the ratio of their areas is :

(1) 4:3 @ 3:4
(3) 16:9 4 9:16

If F;=F,=1and F =F _;+F _, then

the value of F; is :

1y 1 @ 2

3) 3 @) 4

If tand =cot (30°+0), then 8=
(1) 45° (2) 30°
3y 60° 4) 90°

The probability that a leap year selected
at random which contains 53 Sundays is :

1z (2) 366
53 ‘ 7

) 1ss ) %

112, x*+4 erstr Gamemeuuilenen smreiULBESS

SeoLlLg : _
(1) (2+2x+2) (F=2x+2)
@) (2+2x+2) (2+2x-2)
@) (2-2x-2) (2—-2x+2)
@) (P+2) (2-2)

113. @iraor(® eueOloumss (W& Gsmemrmsefisr
+ uSshs st eSS 4 : 3 eTevflsd, SRIDBlET

urtiuemsygafiar alllsLomers) -
@) 4:3 @ 3:4
(3 16:9 (4) 9:16

114. F,=F,=1wpmuw F =F _, +Fn_-2, 6Teufl6v,

Fy =67 & :
1 1 2 2

Gy 3 4y 4

115. tand=cot (30°+ 8) sTevflen, 6 eSlsir Wil :

(1) 45° @) 30°

3)  60° 4) 90°

116. g(m 650 UL S&éd S wpsvmuiss 53

@muiiims Slpmwast @QGEs, ISt
‘BePgseunaTs) :

2 . 53

1 = (@) 3
53 7

@) 1s8 @ 3



117.

118.

119,

120.

1) - Jpar - )

Factors of the polynomial
2044331422 - 192 — 6 are :

(1) (x+1), (x—2), (x+3), (x—l)’

@ -1, @-3), G+1)
) (x+1), (x+2), (x—3), 2x+1)

@ (-1), (1—2), (+3) (—3)

ABCD is a cyclic quadrilateral such thaf
AB is a diameter of .the. circle
circumscribing it and |[ADC = 140°, then
|IBAC is: - :

1) 8o° @) 50°

o
(3) 40° (4) 30°
The areas of three adjacéht faces of a

cuboid are p, q and r. If its volume is v,
then the square of its volume is :

pqr
@) (par? @ EE

8 men and 12 boys can finish a work in 10

days while 6 men and 8 boys can finish it

in 14 days. Then the number of days taken
by one man alone is :

(1) 240 @
4) 280

200

[ICODE] x T 11 J17]

117. 2x4+x3—14x2-19x—6

118.

119.

120.

sTeTm  usmiys  Camemeuufsir
& I 1y 6uuf1 & 617 :

(1) (@+1), x=2), x+3), (x-1)

@ G2-1), G-3), @+1)

(3) @+1), (x+2), (x=3), 2x+1)

(4) (x=1), (x=2), (x+3), (x-3)

ULL Erp&rl ABCDeé - AB qfsﬁrugj

I LS ol b whmib {ADC = 140°
Tl [BAC gyemrey

1 so° @ s0°

(@) 40° @) 30°

R & 60T G 616U & S 6iT oL 6T )

2068055 Yshsalar urliusTey
(psGul p, q LOMHOID 1. BYGET SHer QieTey v
sTeufed, seor Byemeflstr RS SLomeITE :

M E @ per
®  (par? @ T

8 ), 600 & (@10, 12 ApiarsEsn @

Coumeemu 10 wrisefled  (pgliur,
6 Y ETTEHETELD, § Flmisuia LD 14 BT sefled
365 Geusmevsmi Aeiiigy (el ereofley,
geflure @@ yan LLHD Ths5sS
QasmsiTemid B seflstr sTetorsuntidems :

(1) 240 (2) .200

(3) 140 @ 280
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121.

122,

123,

SCIENCE / gfjleSluiev

The total distance covered by a car is
200 m. It covers the first half of the

distance at a speed of 40 kmhr ! and the

second half of distance at speed v. If its
average speed is 48 kmhr~1, the value of
vis: ‘

(1) 52 kmhr~1

(2) 60 kmhr~1

(3) 48 kmhr~!
(4) 65 kmhr-1

A block of wood, when floated in water,

th .
3 of its volume is submerged. When it

is floated in a liquid, it just floats. The

" density of the liquid is :

(1) 800 kgm~3
(2) 1000 kgm™3
(3) 650 kgm~3
(4) 1100 kgm 3

If a body loses half of its velocity on .

penetrating 3 cm in a wooden block, then
how much will it penetrate more before

coming to rest ?

(1) 2em @ 1m

(3) 3cm - 4) 5cm

121.
G0 200 m.' 98 (P urdl SMrSms

122,

123.

Q@ CurlLmi surserd &Lk Gurss

40 &1 isurfl erstrn CousSSlnin, it urd
gmgmg v gy GussHgin
SL&SOTMG. ST STrem  Gaisid
48 &1/ 106wf] sTevfl6d , v -60T oGl :

(1) 52 &5

(2) 60 &b/ emf]

(3) 48 &.Li/nemf)

(4) 65 &.B5hoevf)

a0 wrsslmi Bifld g&s@n Gurs),
2| S 60T ﬁrﬂmnsuurgg‘;]sb % urs it T
IfiphgsTarg). 968 LISSLML Q6
Sraug sl 155G CUTE (PLYSLSGILTES
eptpdl pSSsTmgl. sterfled Hlysugdleir
SIS : ‘

(1) 800 kgm™3

(2) 1000 kgm~3

(3) 650 kgm~3

(4) 1100 kgm 3

Q@ QUTEaTTeTgl, @@, WTsHs oL uils
3 Qe gmit gmarsHE Geaain GuTs)
25607 HenaCoussd UTSILTSS Gsning.
QB0 QurmeTTeTg WWRSD QLiny
Blemsusmil BysmL_LL, LT &S enLuilsd @stTemin
STEUGIATEY SMTHMS GlemarTss Geausimg-
WS Eh ? '
(1) 2Qs.f @) -
(3) 3@ )

1 Qb
5 Qe



124,

125.

126.

127,

An object is dropped from a height of
10 m from the ground level. If the energy
of the object reduces by 40% after striking
the ground, the height through which the

object will bounce back is :

(1) 24m 2) 12m

3) 6m 4) 18m

A parachutist jumps from an aeroplane
moving with a velocity of “u’. Parachute
opens and accelerates downwards with an
acceleration of 2 ms~2, If he reaches the

ground with a velocity of 4 ms !, how far

~ did the parachutist remain in the air ?

(1) 3m (2)

(3) 7m 4

The distance between two successive

nodes or antinodes in a stationary wave

18

() A 2

@) M 4) 2x

Decibel is the unit of of sound.
(1) loudness _ (2) pitch

(3) intensity (4)  velocity

- 124.

125,

- 126,

127.

[CODE] X | 1I |17 ]

(% CUTHMTG) &m0y L& &s0lmH g
10 1 2 wrsHemba Gur Lu\SsTng.

SOTMILS SiréEILe 68T 2H60r oy MHmedley

40% GonHng. eTerfled 2|g) TeleuaTe)

2_IITLD Gw@su@muus ?

(1) 2418 @) 1‘2Lﬁ"

3) 66 (4) 181§

‘“weretty SemsGeous gL Gaerm
Qamevarig (mSalstrm eflomer SSe0kmHES) 6
wesflGeT urrmegL Gl 6T & SsSearmmi.
urgregLLrerg) afiflbg 2 ms™2 eTsir
PHSHSGIL 6t SLCENSHE @mmigSTmg.
oI welgi somrows Asren Curs
SjuenLw HaaCaisn 4 ms™ ! ereflsh,
SY6UIT 6TELIEUETR| SMTTLD &STDled @Y mBSmT ?
(1) 38 (@ 58

3) 7 (4) 41f

@ Hemaurear el cgm)suuﬁlsb"@@
I PN&E5H\ES 2 6TeT THIT 5SS EHSH G
DIPE0GI SEMIGSHEHEHE GemLLILLL ST
M r @ M

3 M (4) 2A

QLdlush eretrugy eedlullsir

SIS o
(1) susvGlsumsol (2) &md
(3) Ge&nfey (4) | SlensGeugid
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128.

129,

130.
" a speed of 1'ms ! strikes the head of the

Two liquids at temperatures 20°C and
60°C respectively have masses in the ratio
4':3 and théir specific heat capaéities in
the ratio 5 : 4. If the two liquids are mixed,
the resultant temperature is : -

(1) 40°C ' (2) 35°C

(3) 50°C (4) 70°C -
A‘machi‘n'e'gun:.fires bullets each of mass
25 g, at the rate-of 600 bullets per minute,

with a speed of 200 ms~1. The force
required to keep thé gun in position is :

(1) 20N - (2) 25N

(3) 10N (4) 50N

A hammer We_ighiﬁg 2.5 kg, moving -with

nail driving it 10 cm into the wall, The
acceleration during the impact and the
impulse imparted to the wall are
respectively :

(1) -5ms"2% 25N

(2) —-10ms 25N
(3) -75ms~2% 35N
(4) —-8ms 34N

10

128.

129,

130.

20°C pmid 60°C Qeutin Hemeos afied
2 66T @)1 HTeursEHSSmLCWw 2 6rer

'Hlemm AL Lmmid &iu QeiL eTHuGSlmesr
aflflgmh amGuw 4 : 3 whHmitd 5 : 4. @YW
Brautisenh gty Geissliul Lmeb,

SiuhBisr Gmid Geuiu Hemsv :
(1) 40°C 2) 35°C
(3) . 50°C 4) 70°C

@ Quidlr siiursd 25 & flaom
Qanem @ (Hismer Eufi &G 600
afgin 200 Fleflermy Coussgi sr Qaeaflls
uQSEISNG. b SCLTSSamu @i id
wrprwe Hoalu@sdh s ms s
Gapsmeuiment aflsms : '

(1) 20N 2) 25N

3) 40N (4) 50 N

2.5 kg eTemLiTeT @@ F&Sue 1 ms!

Cousddld Qe qm oyl seufls

10 Ggaf gypn Geawguorm g &Hng.

@ Gurgslsy souGd PHS&SD LHmILD
aupil THILASSEEIHL HITSETEES

aflsns (psmmGL :

‘(1) -5ms~% 25N

(2) -10ms~25N
(3) -75ms™2 35N

4 -8 ms~2 4 N



131.

132,

133.

134.

By
0

Acceleration due to gravity on the surface

of moon is 1.67 ms ™2, If the mass of earth
is 80 times that of moon, the ratio of radii
of earth and moon is : .
{Acceleration due to gravity on the surface
of earth=10 ms™~2).

36.5
45.6

(1)
@3)

(2)
(4)

3.65
0.456 -

In the circuit showh in the figure, the

current through the arm CDE is :. )

6 40 - .. 7

G D WW—E
120

A B
+| Al
|

(1) 0275 A (2) . 0125 A

(3) (4) 0500 A

0.150 A

The potential difference between two
points is 50 V. The heat generated in

transferring 96000 coulomb of charge_

between them in one hour is :

48x10%]
48 X104 ]

4.8'><106]
48x 1067

(2)
(4)

The number of molecules in 22 g of carbon-
dioxide is : .

(1) 1.51x10% molecules

(2) 3.0115x10% molecules

(3) 12.046 x 102 molecules

(4) none of these

11

131,

132,

133.

134.

-y, hlullsar

[CODE| X | 11 |17 |

sh@raflar Lrife, mily. WSS
(Acceleration due to gravity) 1.67 ms—2
STEmL TS FhaTefisr
sremLemwaii. 80 L@ sreeflsy, Lybluflsar
THHIGGS, FHSTTlET ITHSIH S
@emLGisiver Sa6

(Lllufer uri@e Frdy WHS S
=10 ms T2 eTor S QameTs)

(1) 3.65 2) 365

(3) 0.456 4) 456 -

s sl e snm UL &dHew, CDE
LGSilsb Glesoauid LilsramTd e Hiere; :

60 40
C D AN E

120
Al—ywwwWA— B

f\

*
l

0.275 A -
0.150 A

0125 A
0.500 A

(1)
)

(2)
(4)

@@ ystafisErsSlamL G o sirer wler
arss Gaumurp 50 V. e Ustef-
ueSlmiE wom yereflsE 96000 &gyid
Sjemey Wlersnm L Gemg 1 wemfl GrrSSled
Gesretor(h Glssogyid (Burrgu ﬂ.w_@surr@m Gleulu

g&mmmﬁlm Lﬂé'f;]LIL] .
(1) 48x10°] - (2) 4.8x105]
(3) 48x106] (4)  48x104]

22 & sniusTenL 9L Smenip 2 sTeT
ELPeVS Sn_ M) SeTTl6T 6TETOTETI( IS 6m 8 : |
(1) .
(2)
(3)
(4)

1.51 X 10% eLpouds Gn MG
3.0115 x 102 eLpaud&omser
12.046 X 1023 eLpsvdsan mgH6i
@laumeb 67 g flsbemen
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135.

136.

137.

If a liquid ‘X’ has boiling point of 353 K

and another liquid “Y" has a boiling point

- of 384 K and X and Y are miscible with

each other, which one of the following is

correct ?

(1)

X and Y can be separated using

separating funnel.

(2) X and Y can be separated by

distillation.

X and Y can be separated by
fractional distillation.

(3)

X and Y can be separated either by

@
distillation or by fractional

distillation.

Number of neutrons present in protium :

2 Al+6 HyO — A+B, A and B are :

(1)
(2)
(3)
@

Al,O, and 6H,
2 Al (OH); and 3H;
2 AlH; and 30,

none of these

12

135.

136.

- 137.

- (3)

‘X' ereorm [BwSSlenr Gardflma 353 K.
Y’ ettt Brwgdlsr GosmdHifismes 384 K.
X whmin Y germilsr Qarm Saé @i
GEMEBLIYSOLILG  eT6ufle,
suEITEUDMIET Fflwimet Swmm) 6T& ?

(1)

leareu(ry-

X Lng')gjjfn Y Eirevorentwin thifliyentsn
2_gafhuns Serfl&seflGw M seumb.
X whmis Y @IreimeL Ll aumemsy

QilgH&0 (pemmuiley g,wﬂg;g;suﬂ(ﬁu_l
ififl&asumD.

)

X uphmd Y @reereniwm leorer
T alpSH0  (pemmpulle
g oG & 6uf1Giu- 1 NIfl& s eomin.

X wpHmid Y GHreterenLwih aren s
alp &5 pempuiler epsumsGour

(4)

Sjfoeng L6Ter eumems allp 5560
yeomullsr epowrsGur seafd
g6eflw ifigasumo. :

yCrrligusdlen asem Byl mmeirs eafler
sTevoT6uo 1 GH6m S

@ 2

) 0

2 Al+6H,0 — A+B, A womu B
(pempGul :

(1)
()
@)
4)

ALO, wimmib 6H,
2 Al (OH); b 3H,-
2 AlH, i 30,

@eumniey s7gilsuemen



138.

139.

4140.

141.

In the formation of sodium chloride,
Na+C! - Na* +Cl~ — NaCl, which of
the following is not correct ?
(1) sodium loses one electron
(2) chlorine gains one electron
(3) NaClis a covalent compound
{(4) The force acting between Na* and

Cl™ is electro static attractive force
A compound ‘X’ reacts with potassium
iodide solution to give yellow precipitate.
On heating X, reddish brown gas is
observed. Compound X is :
(1) PbCl, (2) Pb{NO,),
(3) Pbl, (4) PbSO,
For an element with atomic number 19,
the 19t electron will occupy
(1) L-Shell (2) M - Shell
(3) N-Shell (4) K- Shell
Match the following :

Isotope Uses
(a) Fe-59 () eye treatment
by C-11 (ii) brain scan
{¢} Co-60 . (i) treatment of

_ anaemia
(d) P-32 (iv) treatment of
cancer

@ ¢ © @
M @ @ @
@ @ @ O @
@) @ 6 )
@ @) @ 6@ o

13

138.

139.

140,

141.
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Cempwin @Carmsnr® 2 peum@GLD
aflsmgordlet Na+Cl — Nat +Cl~ — NaCl,
UletTsu(meueoTeuDm6T 678 SrflmenTg Qisven ?

(1)

Compwid g stlevd gmemer

NCELVETE

(2) ©Carrfsr 6 a‘rGlsuéa{_lrrr&mm
Gumima.

(3) NaCl s U Nemewriiy Gamioih.

(4) Na® wvpmpwe Cl- guwellsEné

S Cu srsmiu@id ofos B
fissreufluch sauigd afemgwm@io.

“Xsreorm Gamalh GlumL mefwid gGureni G
srea T eflmearul B LEsFar B
afpugailmenrs Hmémg. X-ip Qeuliul
LuGSgD Gurg Qevuwly Bn sumy
GouaflCLmdimg). GCamon X ererug :

(1) PbCl, (2) PB(NO,),
(3) Pbl, 4) PbSO,

Sjgm sevor 19 Qametor e Sevfladhlsor
19-6.51 9|50 6TES FnL.ip60 @10 (Mg &gHid ?

(1) L-Shell © (2) M- Shell
(3) N - Shell (4) K- Shell
Qufr@&guas.
. eGenGLm LHLIGST & 61T
{a) Fe-59 (i) e dEFoma
) C-11 (i) ewpemar svGaer
() Co-60 (i) @QUEs Carmas
arer e
(d P-32 (iv) ubmy Cxmidsmer
. AFeng

@ b @ @
1) ) @ vy @)
(2} @ Gv) ) (i)
3) @ () @)

(4) (@ @
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142.

143,

144.

145,

146,

Which of the following reaction is

responsible for acid rain ? _
(1) 4 NO,+0,+2 H,O - 4 HNO,
(2) 2H,+0, »2H,0

(3) CL+H,—2HC

(4) 4NH;+30, > 2N,+6 H,0O

Arrange the following elements in the
order of their increasing non metallic
character.

Li, O,C, Be, F

(1) F<O<C<Li<Be

(2) Li<Be<C<O<F

(3) F<O<C<Be<lLi

(4 F<O<Be<C<Li

The elements A, B, C, D and E have their
atomic number 9, 11, 17, 12 and 13
respectively. Which pair of elements

belong to the same group ?

Band D
D and E

Aand B
Aand C

(2)
4

1)
(3}

Which is called Indian Saltpeter ?
(1) Calcium Nitrate

(2) Potasstum Nitrate

Sodium Nitrate

Magnesium Nitrate

In the treatment of heart attack, which
helps the blood vessels to widen or dilate ?

(1) Acetaminophen
(2)
(3)

(4)

Nitroglycerine
Nitroparaffin
Albendazole

14

142,

143.

144.

145.

146.

(2

et sugmeusTeUDMIET 6ThS aflenar gfls
LOEDLYSH(S SMTTETTLONG: smindimg ?

(1) 4 NO,+0,+2 H,0 — 4 HNO,

2) 2H,+0,—»2H,0

(3) ClL+H,—2HC

(4) 4 NH;+30, - 2N,+6 H,0

S&G@HNI_HsTer Seflomigmer )gs0
ICurss savenuller gteliuemL uilsy
symisuflemsuflsirig. euflnsLHS 816

Li, O, C, Be, F

(1) F<O<C<Li<Be
(2) Li<Be<C<O<F
(3) F<O<C<Be<Li
#) F<O<Be<C<Li

g seflumgst A, B, C, D womiw E
S EsuMMIeET 5T 67650 S6i (LpsmpGiL
9, 11, 17, 12 whHnib 13 gLEh. e
s155 Gonmy geflomissir @GU QarESHanys
FTMHSme ?

(1) A uwhmib B
(3) A wpmin C.

(2)
(4)

B lommud D
D umpmid E -

Qe 2 1] 6Tt SjewLpSsULBg ?
(1) sl epl G
Gum” L réhuih enm G
(3) Gamgwid enmp Gr
(4) Gudefdiud enm Gr_
wryeLUyssmer HeFeamaufiar Gumg)
@558 @umnussmer aillflsusmlwg Qe
LeTLH S SIeg) 678 ?

(1') QAL AGeiT o GlLstT

(2) emm Gordleflslsir

(3)  mpLGmTuTTSelfsdr

(4)

g&,aﬁ@us&m@&naﬁ



147,

148.

In which of the following phase, DNA is
Replicated ? :

(1)
)

(2) rMetaphase }
(4)

Prophase

Telophase Interphase

Which of the cell organelle lacks

" - membrane ?

149.

150,

151.

(1} Mesosome

( 2) Mitochondria
(3) Ribosome

(4) Liposome

Cell Theory is not applicable for :

(1) Bryophytes
(2) Algae .
» (3) Gymnosperms
Virus

(4)

In plant A, 2n=12 and in plant B, 2n=16

then the ploidy number of cross breeding

plant is :
(1) 14 (2) 28
3) 12 "(4) 16

Which of the following is used as
Biofertilizer ?

.{1) Salvia
(2) Spirogyra
(3) Azolla
(4) Chlorella

15

147,

148.

149,

150.

151.

Q)

ICODE| X | 1. ]17]

spseam.  ahs Hebeullsh  igeTeiTer
@i glturdmg ? '

1)
()

LG [Blsmeu 2) G’ flemso

tg.Goor Hlemev (4) @eoL. Hlsne

o686 GFd pamaynOinE ey
SevLiurg ?

BGsT Geamip
{2)  sow GLraimresorig fiwm -
(3) eorGuTGamD

(4)  eOLGUTGsmD

Lged Gam_um’ipig @ QuThEsTS |

(1)  WsorGursnu’ Hiaer
{(2) yevem

(3) glLEGmﬂsqulur'r!_h

(4) emauyen

STRITD A 2n=12 -sma &iTeuUTd B 2n=16

oL 67 seol) Gaiuh Gumgy oyseir Gemming
6T600T - . :

(1)
(3)

14 28

(2)

12 @) 16

S aupmer g 2 uiflerors

uwaTURSSULGDE ?
D

&rsueium
(2)  sLGTTSHSTT
(3)  oGamsur
(4) @Gﬁmsbmn
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152,

153,

154.

155.

- (3)

Anthocyanin is present in :

) Chloroplast
2) Plastids
) Nucleus

4)  Vacuoles

The pyramid which is always upright is

(1) Energy pyrlamid

{2) = Number pyramid
(3) Biomass pyramid
(4) None of these

Which of the following statement is not

correct about thyroxin ?

(1) Thyroxin is also called thyroid

hormone.

2

and fat metabolism in the body.

(3) Thyroid gland requires iodine to

synthesise thyroxin.

Iron is essential for synthesis of

4)

thyroxin.

Which among the following is both an
endocrine and exocrine gland of human
body ? ‘
(1) Thyroid
Adrenal

{(2) Parathyroid

(4)

Pancreas

It regulates carbohydrates, protein .

SIewrll

152. g EGsramsursaiiar @b
- U &mg
© (1) Usmniseflsid
(2) WNermevig(hiseT
{3) e lem - |
Y ané@Garaes

153.

@

154.

155.

16

(3

sru(SurrgJLn Croms: asrrsmuu@m 151mﬁ]@

(1) e

) mummﬂaasm&, Iﬁ]f}'Lﬂ@
(!3)‘ 2 ufiflt Gurr@sﬁ girsT MG
(4) sr@su@shsmso

E9&E@ALNC Qe Hpms e
60 ST & 616l 601 @@,@@ H DT & B
T8l ?. : ‘
(1) smg;mrémﬁ]s&nmg;mriu'_ gm]rni— (Smrrsi'JT
STGOTLD gmg&a‘:ﬂu@eﬁ]m@.

B g, o_ Ll sTiGur emefl G,
Uren wHmbw QsTlllsr eerr
fmg LTHpSSmear HUEEGUOS
g1Epg. |
smg,rrrrésaﬁléiﬂ swrflés, sgrmil
&TUNSE  oGwimg e (Sg,smsuu
LA .

& ITIT & rOl6aT g,u_lrrrﬂesea By
SeudLinrElms.

(2)

)

S eupsueeummieT weafls 2 Ll g
Eremlssum WMmIb Hrempsiter sqiiiure

efleThigSlng ?
(1) emgrmit (2) UFTTESFMLIL
3) o fared @) sevewuLD



156. The following statements are with reference

to chromosomes. Among the given

statements, choose the statement which is -

not true ?

(@)

)
2)

3)

@

157.

158.

Ih metacentric chromosome the
centromere lies in the middle of the
chromosome and it is a V shaped

chromosome.

In acrocentric chromosome the

centromere lies at one end of the

156.

chromosome and it is a ] shaped -

chromosome.
Both (a) and (b) are true

(a) is false but (b) is true

(a) is true but (b} is false

Both (a) and: (b) are false

Haemoglobin is also called as :

()

RBC
. (2 WBC
(3} Respiratory pigment
(4) Plasma
Expand IVF :
(1) Inter Vascular Function !
(2) In Vitro Fertilization
(3) In Vertebrate Function
(4)- Inter Vein Fusion

157.

158.
@

17

[cope] x | 11 [17 |

- & @O Gisirer s D6 @GGTTELTGEmD

Saeruuhiliugl. Seumafle 2 etorenLoWITsT
&nifleners CoiEoEH\S&aiLD.

(@)

@
(2)
)
(4)

QuLLTQgsNé @GTTeuirGamLils
QearGrmiwt pEalls gemwhs V

gl (GGITELTGETLD @D

&G Qesn' A5 &GTTGLTGeTAeD

QesrGrmfwr @@  peneruile

. Slemuks ' sugal GCrrGurGain

2HGSLD.

(2) pmid (b) &l

(a) g;sugj e (b) &l
(a) &fl germsu (b) Geum
(a) pgid (b) Seum

e GLom @ Gemmiilssr @mmr@uh S|P EHESLI

LRSms :
(1) RBC
(2) WBC
| (3) eaeurshipll
(4) SemmsroLom

IVF statrugetr eflifleun et :

(2)
(3)

(4) -

Inter Vascular Function
In Vitro Fertilizatton
In Vertebrate Function

Inter Vein Fusion |
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159.

160.

Arrange the following parts of the
Respiratory System.

(a) trachea

{b) nose

(c) alveoli

(d) bronchi

(e) nasal cavity

(f}  bronchiole

1 © & & ® (@ (@
2 ® & @ & © ()
@G ® (e @ @ @ (©
4 ( (@ & 6 @ ©

_Four students A, B, C and D have labelled

the parts of the ‘Longitudinal section of
the heart’. Choose the student who has
labelled all the parts correctly.

Student (1)) (In) (i) vy
(1)| (A) |Left Semi Right  |Tricuspid
Atrium |Lunar |ventricle |valve
: valve .
)] (B) |Left Mitral  [Left - |Biscuspid
. Atrium |valve ventricle [valve
(3)| (© |Left Bicuspid |Right  |Tricuspid
Atrium |valve ventricle [valve
)] (IO [Left Tricuspid|Right  |Biscuspid
Atrium {valve ventricle [valve

-+ 159. &aume weir el QgmLfumer Spé& @GNl

18

- (istrer Lirgmbigamst eurflenauplsgis.

(@)  &es @l

b  wsS

(c) &MH) KicworswTsmm

(d) ep&asSemons G

(e} . mEd usTaLd

(f) . epsassmer FlyiGpsd
MmO 6 6 O @ @
@. ® © @ 0 © @
G O @ @ @. O
@ © @ & O @ ©

160. Epmetr@ wremTeuiseT A, B, C whyid D

(1)

(3

4)

Bousddr i@l @ CsrhmsSsr
urstiGmer @DiSgeTare. gyausefle

ImaTEHg  uTShusmaryd  sfurs
GPlSgisTer  wremTammeTS  CHih- -
8 HSs6D. '
ok
Humanl-k:a_r}
Vs
{
. , a
av)
{m)
wmeworsuer | (1) (1) (I {IV)
A Qe (oporé awg sl
s |smrsir |Cleusirief) | sursey
umeey | |
B) @Le pdire (@i - |misp
eriiflnd |eumsbey  {Glevsiried)| sumelsy
Sdlair
© e |misy |lwns  |welsp
sriflnd |eumsey  |Gleusdripmsumeisy
- |&dir
D) Bra  |welsp wws (b
eflung |sumeisy  |Gleusitipdi| umebey
' S&e
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SOCIAL SCIENCE / &¢p& Siflelulev

161. Who promulgated ‘Infallibility Decree’ ? 161. ‘ssumiiw gd)smsuvr’uﬁ;lsmm ﬁ]qashearﬁll;!@g
‘ | gwaur wrt ? .
(1) Babur (2) Hurﬁ;yun _ (1)  wmoF (2) @@mn@,sﬁ
(3) Akbar (4) Shahjahan (B) SHut  (4)  eamsammer
162. __ introduced the Abacus 162. JUTHE (LPFDMEDIL g@@&ﬂu@@@umﬁ&ﬁr
method. — |
1) Chinesé - (1) Sevriigsm
(2) Egyptian - (2) eTEALGWITSET
(3) Romans : | . ) (3)  Gymoresflurser
(4) Greeks ‘ _ | (4) | HGrsEna6T
163. Find the incorrect pair : ' 163. g,su,rﬁrrsrrr @lememTemiud SetoTLfle :
(1) Plebians - Common man without (1)  Aeflfwrieer - 9;6ml__€G)LDUJ'[_i]!D
property - grgmyemer Locoflgeor
(2) ' Tacitus ~ Meditations (2)  amdligLen - Qoigl” Gt_awsimsr
(3) Parsavanath - 23" Thirthankara . (3)  UMSUBTST - 236U STSHSHRISGTT
(4) Diocletian - Roman Emperor (4) L CGuwrsedlaflwesr - Gl GUTTET

164. Whichtwo countries were not in the Triplé 164, 1907 -gyb gy eumip et (P&H& (b BLUDEY
" Entente in 1907 ? ' 2 L eTLig Semsuild @L0eumTs @iy
: TG IWreney 7

(1) France and Britain - - (1) iymeirso it A L et
(2) Russia and France (2)  regwr whHmh NysiTen
(3) Britain and China = (3) 1AL 6T Lommh Esor

{4) China and Germany ' (4) &eurm omid Glsgriwesf)

19
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165. World War [ is also known as :

(1)
(2)
3
@)

166. Match the following :

(a)

()

(©)

(d)

M
@
)
@

The War of Verdun-

The Kaiser’'s war

"'The Joffre’s War

The War to end all wars-

Empire
Chola
Pallava
Mesopotamia
Roman
(@) (b} (c)
@ ) 6
@ ) @)
(iif) (v) (H)
(i) () @)

Architectural Style

(i) Domes

(i) Tombs
(i) Protective
walls
(iv) Rock

Temples
(d)
(iif)
(i)
()

. 165. e  o.esd Gurir  @susurmd

20

g{ﬁd}@é&&;ﬂu@eﬁlmg.
(1) Qeursir Gumt
(2) - Qe Gumr
(3)  egmoburm Gum
@)

oymaTee Gurissisr GmdiCuni

166. CQurmSas

(a)

(b)

(d)

@
2

@

Cuirre
Gamprt
LIsbsueiT
QueuGLmbwi
GomLom
(a) (b} (¢}
i @) @
(i) (i) (iv)
(i) (v} (i)
(i) @v) (@

SLLLS Sene

@) ooy
2_ (5 6707 6 L.
6 tg 62 v IT 68T
GLosb
DENLOLILSET

(ii) o (mewsm
g exlomenT
S|FLOLILS6T

(iii) UTgSmILTET

2.1 4yp
SimE st
(i.v) G
(d)
(i)
(i)
(i)
(it)



167.

168.

169.

170.

Read the following statements and state

true or false : ‘

(a) In August 1941, Atlantic Charter
was signed on the board of the
battleship ‘Arizona’.

{(b) British Prime Minister Winston
Churchil and U.S. President
F.D. Roosevelt agreed to launch a
massive attack against their common
enemy Germany. !

(1) (a) is true but (b} is false

' (2) (a) is false but (b) is true

(3) Both (a) and (b) are true .
(4) Both (a) and (b) are false

The old name of Cape of Good Hope is :
(1) Cape of storm

(2) Cape comerin

(3) Cape of Spain-

(4) Cape town

Arrange the following events in
chronological order :

{a) Treaty of Peking

(b) Treaty of Versailles

(c) Treaty of Nanking

{(d) Triple Alliance

@ @ & @@ @
2 @ © @
B © (@ @ @
(4) () () (@ (c

e e

S

Name the country which got independence
before Second World War ?

(1) Mpyanmar (2) -Malaysia

(3) Bangladesh (4) Egypt

(4

[CODE[ X | 11 |17 |

167. SEQ&ETEmID FnhmIGmaTy U s,

SEUMIT bTeITUENGS et niue L.

(a) 1941 -gpin gyeTH )& 60lg60 -
. ofi@ameorr eTsotamun GLimiSasLiLsdlsy
larsimed = Gurt  glumhgb
S GlILI(LDSST60T Gl

by EEdHorig Srswr aflsrsvl er
gigfleo  uwpmp HUuflss
mearrdud) 7Ll e e@eusL
&Gt grisarg QU
srdifliumen Gegiwefuflstr gy Guird
Q&T(HSS LIS TERTL 6T

(1) (a) &l gyermed (b} Seuml

2) (a) Boum Syeermed (b) &fl

(3)  (2) wogid (b) Girewor(Hid &
(4)  (2) wibgd (b) Grer(id Soum!

168. memamillgems (pemerufiser LsmLp GlLILIT.

(1) Lwed (Lpemeor

(2) Gal GemGuomtler
(3) enGluuilel (pemer
(4) GsLr Leysor

. 8D&GMOILGTer HspaismeT sTos

Sirodug auflsnali e ais.

(a) 1S&im LL.E&fLJLgéasmaa

(b) QeurGauilsen o 16U Hma
(c) mTsiTEImI 2 | 6iTLIg H6m&:

(d) (W& LG 2 L6TLIp SHmE
O @ ® © @

@ © ® @ @
() © @ @ @
@ ® @ @ ©

170. @rarLmb o sl CuTmeEG Wsrer

FHHETD il bs HTE 15 ?
(1)  hwmedTiom (2) wGeudhum
(3) smsbsasn - (4) adlg
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171,

172,

173.
 existing law of the country ?

174,

Capital of Bosnia
(1) . Serbia .~
(2) Tannenberg
(3} Serajevo

(4) Marne

The present Secretary General of the
United Nations is

(1) Ban-Ki-Moon

(2) Antonio Guterres

(3) ' Kofi Annan

(4) Boutros Boutros Ghali

Who]whic_h, qén_ ma‘ké" changes to an

(1) The Supreme Court

(2) The President
(3) The Primé Minister
(4) The Parliament

Foreign affairs comes under

list: - o
- (1) Union list
(2) State list
(3) Concurrent list
(4) Residq:ary.‘ powers .

175."

'Which fundamental right is called s “The
" Heart and Soul” of our ‘Constitution by

Dr.B.R. Ambedkar ?

(1) Right to Equality
(2) Right to Freedom

“(3) Right to Constitutional Remedies

(4) Right Against Exploitation

171.

172.

173.

174.

175.

Gumrevesfllu Semeome
(1) Gamiwr

(2)  LrQersdruims

(
(3) GayraGeur
(4)  womesT

ol Erissr Fomuuier SHGUTm S
QurgF Qewsomsnt

(1)  umedT-&l-gipear

2)  oemmeflGur @ L Girs

3)  Gaassfl oyereormsdr

(4) Yy Gmmaio Y Girmeiv &6}

R BILgdr sLLSdmars SGEs0
Qeinyd Hermd @s0& / QaunsE
2 _aioT(ht.

(1) e dofdlwsmmid

2) GRurss g;smmmr'r'

(3 dlrgio Wi

(4) BTLWEHOETMD

Qeuefliymeyd giemm @Lucigwsdlsr @i b
CuyFHms.

(1)  emiow gyt BHSTIL L IglLied

(2) tomflev STt T L Igiisd

 (3)  REOERESmETES SISO LI g 1LIsh

(4) mpeTer BSTIRIGET

Lréerr . gyf. gbCusst co;)mjﬁaasrrrrsb
SjipliusnL 2 Memwgaflsar “@wid mmio
apsiTon” sreiry Syempdeiul L e femio

g ?

(1) swssgeue Mo

(2) &sHSAT2iflmo

(3) e FrEaTs ST (Laom
(4)  &TeoTLgvidi( sTElTTeT 2 flemio



- 17e.

177.

178.

Saudi Arabian women were given right
to vote on :

(1)
()
)
(4)

- December 12t® 2015
December 10th 2016
January 14t 2012

March 315t 2013

The person who advocates social, pdlitical,
legal and economic rights for women equal
to those of men is called : |

Castiest
Feminist .
Secularist

' Communalist

Which of the following is true with

reference to democracy ?

{A) Democracy allows us to correct

mistakes

(B)

Democracy is a form of Government
in which the rulers are elected by the
President.

{A) is true but (B) is false
(A) is false but (B) is true
Both (A) and (B) are true

Both (A) and (B} are false

23

176

177.

178.

[CODE[ X | 11 |17 |

s dl Gl  Eri@® Qusifurassir
aurssaflss 2 fiann Gupp ,r_r,rrsrr

(1)
(2
(3)
(4)

lgFLOUT 12, 2015
tgFLbUT 10, 2016
sosmeurfl 14, 2012

wmrE 31, 2013

g'bé&uraa@éa@i G]usu'uraa@és@m; FeL,
Srdwe, sLLD uhmnih GurgsTrgryo
Qpflweipiles s 2 faws e,
sunuuysmeryh oeflées g sfliuar
@leuaummy gjempsalu@epm.

(1) erdweurd) '

(2) Glussoremflu efNmLod)

3)

(4)

WSFSmTLMDeT

aUGLILeurd -

seoTEMUSSmSL LD SLS@MNN Gsirer
anmnseflsy eflumer aa:.yy;j]smsarg; Caih
(AFTOL L TR

(A) geprush gaupsmn HsEs
Qamsirer gjeniwSsHng.
HMUGLD 6Tedrm STl gyemLol

Fiso sosmmlublumsd  Caib@ s @GS s
L eursGer gy 1 & yftsumiser.

(B)

1)
)
(3)
@-

(A) 2_qmenLo yeommsb (B) geum)
(A) Boug gemed (B) 2 sirenio
(A) mmnd (B) Greir(hid 2. 6vaTemio
(A) w@g,xlth (B) @raior(Bid SHeum:
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179.
(@)

®

(c)

(d)

180.

Match the following :

Writ of Habeas (i) Prevents
Corpus usurpation of

~ public office
Mandamus (i) Quashes an

order issued by
a sub-ordinate
court by over-
stepping  its
jurisdiction
Certiorari (iii) Safeguards
people from
illegal arrests

Quo warranto (iv) Protects the
petitioner who
requires legal
help to get his
work done by
respective
public
authorities

@ () () (d
1 W @ @ @
2 @ @ (v) (@)
@ @) O @ ©
@ @) (Gv) @ @

Expand NOTA :
(1) None of the Associates

{2) None of the Aspects
(3) None of the Anecdotes
4) " None of the above
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179, QU SIS :

(a) o Qememrt (i) G]Ljrrgjii-
- B Guimemssar ugellaemerm

o1, &ENTLAILL
CFLmSS
gL Qeige

(b) QowgmSsIn (i) gemewr -
FeICIGLUTTsmeTHT Fehlostrmriis aiflsar

surrtbL] L)
QisuefudiEi
D|,5T6TT S 66T

E&HGS60

©) opumTsGsly (i) sLLSHD G
GuITTsmeTOT LMLOLITS 6n&S)

Qenlisudladl(mhgl
L& & marLl
LGS TéSmg|

(d) s&Hpeoon (v) &L 2.geol
eflssreyLh 9fiSg
eI GLITTT smeTOT QumgiLs

(1)
(2)
RS
(4)

soofillear GaFeme
L FHEE
Qe S ng

@ O © @

) @ 6 @
@ © ) @
@ 6 @ 6
@ @ @ 0

180. NOTA eearugstt eflflamdaa : -

(1)
(2
3)
(4)

None of the Associates
None of the Aspects
None of the Anecdotes

None of the abovg



181. .Formula for determining the value of an

182.

(1)

®

MLA vote in Presidential election is :

Total population of the State or
Union Territory

- Total number of elected
members of the Legislative
Assembly x 1000

Total population of the State or
Union Territory

Total number of elected
members of the Legislative
Assembly x 100

Total population of the country

Total number of elected mer_nbers
of the Legislative
Assembly x 1000

Total population of the country

(4)

Total number of elected
members of the Legislative
Assembly x 100

International day of Yoga is observed on :

(1) 20t June (2) 215 June

(3) 20t July k4) 215t July

@
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181. gearrud) Gaigdld @ &1 LeiTm

o miifterflssr  aurS@saflar wHlmus
SETSHEIBILD ¢SS : '

wmElsod 9|s6ug) wisufliedr
HIrGa 56T CLrgs wsaar Cgmma
GambsGssiu L Crss
gl osrm 2 mtnesie eflshr
sTerrsmil&ena - x 1000

(1)

mrfrj,]suﬁ: S|soeug Wysofluisir
BIrCsasdisr Qnss, waser Cgmms

GCaimbsOsslulL Curgs
gL ewrm 2 miinewisafler
6T6u0T 61 15 603 5 ><‘100 :

3) GlpstT Gloms wH st Qgmens
GamMmblsBSsiu L Curss
FlLostrm 2 muiSesria eflsar
sretaranelidemas X 1000

@) BT lg6 GLomss ws ST Glamms
Comblshiaslul L QurEs
FlLwerm 2 millerisaflsar
sTesoTemfldmas x 100

. sfuCse Curatdard gmisflsaiu@in

[BIT6N :
(1) 20,99ar  (2) 21, 98

(3) 20, uBme (4) 21, nOme
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183.

184.

185.

186.

187.

The largest country in the world in terms

~ of area :
(1) China (2) Canada
(3) Russia @) India

Assam, Meghalaya, Tripura and Mizoram
have common frontier with :

(2) Bangladésh
@

(1)
(3) Bhutan

China

Myanmar

Among the following which railway
station has the longest railway platform
in India ? '

(1)
(3) Kharagpur

Gorakhpur Kollam

(2)
" '{4) ‘Bilaspur

Pick the odd man out : -
1. (2)
3) 4)

Khyber - Shipkila

Rohtang - Gangotri

. The running water that cuts clayey soils

and makes deep Channels.
(1) gullies

(2) sheet erosion

3)
(4)

soil erosion

wind erosion
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183.

184.

185.

186.

187.

(3)

2_ & GG uriuerafle s Gufl

LACIRS
(1)
3)

georm SHEOTLIT

(2)

@iregwr (4) | @,l;'r,_;élu.m

-glevemd, GusTewr, Hflyrr wHMID

WBGammh GumssTm LomhlsukiseT GlLTgieurs

sTeoemnsG Gosmrlel  @mEETC(HiL s
udlisgiGlEraTflstTment.

(1) &oomr (2) auksGsaD
‘l'(3) H,]Jrs&r (4)  (Bwmebror

EDEGHONN Leneausaficr @i Sumefle e
BemLomear @rullev meme_GrosmL 2 sirar @iruiled
Hleweowis 6Tg ?

(1) Gamrswu,T (2) Qsébsuid

4)

STTSHLLT SlevmstoLyt
QUTGHEETEMSS CHiHOGHSSaLD.
(1) 2)  eflideor
)

NS LIT

Gy (4) ombGsTsfl

' aﬁllsmir,_r'r,(Sg,rr@Lh B &eflieis u@ﬁe&mﬂsﬁ

FOUGSSID JYLPLOTET STEVELTLLIST.
1
)
(3)
4)

Salesr

Guopurri| v smL. 2yfl5g60
Losaor yflly

aronflerr ofiiy Qewsb



188.

189.

190.

191.

The state having the largest forest cover in 188.

India : '

(1) Arunachal Pradesh
{2) Madhya Pradesh

(3) Chhattisgarh

(4) Maharashtra

The only river that flows through Great 189.

Indian Desert :
(1) Sutlej . (2} Mahanadi

(3) Beas - -+ (4) " Luni

Who proudly proclaimed dams as the 190.

‘Temples of Modern India’ ?
(1) Mahatma Gandhi

(2) Jawaharlal Nehru

(3) Dr. B. R. Ambedkar

(4) Dr. Rajendra Prasad

'The state which does not have an 191.

international border or lie on the coast :
(1) Mizoram (2) Assam

(3) Chhattisgarh  (4) Bihar

27
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@rHureflsl  sr@ofsr | UroLsTey
FlsLoms 2 s Wmfleotd : '

(1)  oymemrése SifGsatn |

(2) wsHuIGeed

3) &liesvs -

(4)  wapmmesgT

@h& Lrensususer &l umud G o).
(1) ELsug f2) Lnasrr,r_r,g

» (23

“mofer @iHurefisr Caneflsvgst” e
SOETSEmET QU(HLWTE Syflefs s,

(1) wersursmd
(2) smpmismsl Ch(m

(3) wm&LA B.R. guoGugar -

(4) vrsLn. @rrCokdr Srens

usiterr G sTomasCard  giag
SLHeOT UGSl emuowms wmlsob :

(1) fGemmo (2) . gyerwsumd

(3) &l (4) Semi
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192. The Himalayas stretches along six

countries. They are :

Bhutan, India, Nepal, China,

(1)
Indonesia and Pakistan

(2) 'Bhutan, India, Afghanistan, China,
Indonesia and Pakistan

(3) Bhutan, India, Nepal, Indonesia,
Afghanistan and Pakistan

(4) Bhutan, India, Nepal, Afghanistan,

China a_nd .Pakistan :

193. Inwhich of the following places are houses

built on stilts ?

(2)

Assam

(1)

(3) Goa

Rajasthan
(4} Kerala
194,

Pick the odd man‘out ;.

Social indicators of poverty.

(1) Malnutrition

(2) Literacy

(3) Imaccessibility to safe drinking water
(4) Unemployment

28

192,

193,

194,

(3)

Quuamn  @is am  BrEsafs

UTHEIETETE]. - D|sme

L—_bLFfFfTF, @righwur, Grumeri, e,
ECarGearahum Lmmih LTEsvg et

(1)

LLmedr, @nm, oy lisrssflsrogmer,
farr, @ECsTCarAwr LHMID

LTl g e

(2)

wLmsr,  @kdwr,  Grumer,
@ GarCardlum, oylismarflsse
tommis uTElerugiTetr

(4 wrmer, @EHwum, Crumerid,
Syusmefleogrer, Feorm LDrli‘j_l:T)jL.ﬂ.
LIFERl610& TedT

ER&@AIIGerer sThs wrElog e
uresersaflesr GLos oI s LIuG\Emg: ?

(1)  osivsromd  (2)  @WTegeiugmesr

Qasiyemm

@

Gameur

(3)

Qurmhersmss Caistlsdaaan

* QUIETLIEHIL 2 eIt SGID Felpdsds @GnuI.

1) &5816 @opur@ -

(@) sosiue |

(3) ung;J&,nljunm Gyhi doLsars
Hlemeu

(4) Geusmsvuilssrsmin



195.

196.

197.

“In Raghu'’s field ten people are sufficient
to do the harvesting work. Since some of
his relatives joined the work, he employed
What type of
unemployment is found in this situation ?

seventeen people”.

)

Seasonal unemployment

(2}  Structural unemployment
Disguised unemployment
(4)

Cyclical unemployment

¢
The literacy rate of India according to 2011

census is : ) .
(1) 74% (2) 53%
(3} 84% 65%

)

Expand - NEFT : .
(1) Net Electronic Fund Transfer
(2)  Net Electronic Finance Transfer
3)

National Electronic Fund Transfer

National Electronic Fund Tariff

(4)

29

195.

196.

197.
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@rE eatuairg  auusils  oymisusmL
Gousmevemu Gleinu uggis GLir Gumgiomsg).
ourgl  2paiarisend  Cameulin
FRHUCL ST, geur Gurdsd uSGsry
Guisemer Goumed@ oyorgSermi.
Gl& @il @rig Heovapt Geasmeuudlsr
smouiledr Gl : -

(1)  wmeus smreu Geusneauusissrsnio

&Ll Geusmeullstrsmin

(2)
(3) wemmps GeusmevufsitmLo

4) ayndl wenm Geusmevufsirsmin

2011 w6 CgTames sHamra0ls@nlsrug,
BrsSurefsr Liglupiey sgaisth :

(1) 74% ) 53%

(3) 84% 4) 65%

NEFT - 67 eflfleurdein ;
(1)  Net Electronic Fund Transfer
(2) Net Electronic Finance Transfer

National Electronic Fund Transfer

(3)

(4) National Electronic Fund Tariff
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198. Which among the following statements are

199.

200,

3

(1)

not the features of Special Economic

Zone ?

(a) SEZ Act was passed in 2005

(b)
(©)

Licence is required for import

100% Income Tax exemption on
export incomes

(d)

Permission is required for sub

contracting
(1) (a) and (d) (2) (b)and (9
@) @and(© (4 (B)and(d)

GST came into force on :

15t May 2017
15t June 2017
15t July 2017
15t August 2017

(1)
2)

4)

Interest payment will be higher on a house

loan on account of :

high rish of borrower profile
(2) high tenure of loan-
3)
(4)

high rate of interest ‘

all the above

-000-
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198. Hpluy Qur@sTrery el sl GOl st

SLD&HSHEUTL.

g MM & erfls

6760 61t

gouprsTenal 616 GaiEelsHSSMID

(@)

(b)
(<)

(d)

1y

Al GuiTBeTTSTT Lo6won_sué LL L
2005 gyt gy stor(H QupmOLLL gl.
Emé@uHsE o flnn Caems.
gomind aumuraTSSnG 100%
aupLomameurf] aileud@ '
gimem @UUESSHDNG Sigrodl
Gaemeu ‘

(a) thmid () (2)  (b) wdmud (c)

(3) (2) wdmid () (4) - (b)wpmd (d)
199. 876® L0 LD Gaemey auif]
: BOL(PODUBGSSILILL B8 :

(1), 1, Gw 2017

(@) 1, @i 2017

(3) 1, g®ems 2017

(4) 1, gysavl 2017
200. fLHESLeT Bamerm ety 9SleLTalgen

SITT600TLD

(1)
(@)

(3)
(4)

SL_6IT AUTTRIG LSBT LDATL ST
Beor_STonrs sL6T (FRISSin
CaLi

2iis aulip allIgh

GLof)&e Il 2|6m60T S SILD

-00o0-
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